A T I G&AT : 17+6+6=29 ] [ qixd T &1 §&A : 20
Total No. of Questions : 17+6+6=29 ] [ Total No. of Printed Pages : 20

T-222301-A
faw : davTE

Subject : Accountancy

g : 3 9ue | [ quiier : 80

Time : 3 hours | [ Maximum Marks : 80

HEEYUT 59T : () TE-UF O gvel # faaifsa §—(21), () w (|) |

Important Instructions : Question paper is divided in three Sections—(A), (B)
and (C).

(i) WUE-(3) & At Y T HEA 1A 7

All questions of Section-(A) are compulsory.

(iii) @UE () wd (W) H ¥ FE ft Tk TS TA HEAT T |

Solve any one Section from Sections (B) and (C).

(iv) &% @US o 9l Y h IW Tk & WH RN foe S
=feT |

Write all answers of each Section in same place.

(v) STfuehan - &1 oo fodk dsifas gei & faw g1

Maximum word-limitis only for the theoretical questions.

M-40A P.T.O.



[2]
Qug-( 31 ) / Section-(A)
HEEH Wl q9r SwrtEt o faT craie

(Partnership Firms and Company Accounting)

ot : WUE-(31) % At YA A ¥ | U9 HEisk 1 W 6 qh AT SOl y © |
A% Y W 1 31k Fifd ¥ 1 U U9 HIIW 7 IS A 7 99 H SN R
aon agfTss wed o ¥
Instruction All questions of Section-(A) are compulsory. Question Nos. 1 to 6 are very
short answer type questions carrying 1 mark each. Answer these questions
in / word or / sentence and also include objective type questions.
TS T -
Objective type questions :
U9T-1 ARG WiEeRl AfufTad fohg & | @] fehan T o ? [1]
(37) 1832 (o) 1932
(Q) 1956 (%) 2013
In which year the Indian Partnership Act was enacted?
(a) 1832 () 1932
(c) 1956 (d) 2013
gya-2 U Hufa 9 et @ # SfaRka T8 i, foheg faska & € [1]
(37) why (a) wfa
(%) fafrim (3) 3 4 =g
The asset which is not transferred to Realization Account but is sold :
(a) Stock (b) Goodwill
(¢) Investment (d) None of these
Y9H-3 U o HSHl o SMAE B4 © ¢ [1]
(37) srEiifha (&) i
() wifhd 3 sfifaa (7) <o &1 e
Liabilities of the members of a company are :
(a) Unlimited () Limited
(c) Limited and unlimited (d) No liabilities

M-40A



[3]

UeT-4  SATeny TR Fed © 2 [1]
What is called Super-profit?

Uya-5  agal @rd § foRet o wd skl gufdi v e Sl o fRe gea W
gETdd fohan T © 2 [1]
At which value the assets and external liabilities of a dissolved firm
are transferred to Realization Account?

Ug-6 o Sivit W ey i <R fafvea gt & 2 [1]
On which shares the rate of dividend is fixed?

fador : WY TR 7 W 10 T TSI T € | YAE U W 3 3 fuifa €1 3w

it STfershay Weg-HH 50 I ¥
Instruction : Question Nos. 7 to 10 are short answer type questions. Each question
carries 3 marks. Maximum word-limit of answer is 50 words.

Y9a-7 T fafies &er 3 . 10 9Tl 25000, 10% Ror9s fifaa fhe | wegot
YT THHRA T B T | T R Y&kl § UsT gfaftedt shifeig | [3]
A limited company issued 25000, 10% debentures of Rs. 10 each. All
the money were received in lump-sum. Pass Journal Entries in the
books of the company.

Y9-8 I ceh @l el STl S § 7 [3]
When Revaluation Account is prepared?

T9T-9 U fafiee 7wk #eiA %, 2,20,000 H AR, . HeAE €E @ HF |
TG YA H T 100 A S Rl 10% HifgEd w frifaa feg) ae
feafaee =t q&aent § st gfafteat sifs | [3]
Paul Limited purchased a machine for Rs. 2,20,000 from R. K.
Machinery Stores. The purchase consideration was made issuing
shares of Rs. 100 each at 10% premium. Pass Journal Entries in the
books of Paul Ltd.

M-40A P.T.O.



[4]
T99-10 i fafiee 7 %, 10 9l 30000, 12% YAIHHRR 391 10% i Hiffm w
Sar okt Tifad fohe ) Squl ufen wehmed 9 81 T | huHl Rt q&iehi |
ST Tsit yiaftedr swifs | 3]

Verma Ltd. issued 30000, 12% preference shares of Rs. 10 each

at a premium of 10% to the public. All the amounts were received
in lump-sum. Pass necessary Journal Entries in the books of the

company.

fdor : U AR 11 Ta 12 TESTE U9 § | T T W 4 3idk F9iia €| gk
T T SRR faehed |
Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

carries 4 marks and has internal choice.

U9-11 4 IR B T %H B WEER § S ary-g1f o1 farese gsit o §
T 1 3TaR! it 1 3T, 2019 T SHHI: . 80,000 3 %. 60,000 ff | AIHRY
TUE % STTHR Yeit 3R TR0l W AT 12% T 10% Ufa a9 ot R
T TS T T4 4 31R B U %, 2,000 91 %, 3,000 Ffd A€ - 9
& st € | 9 @t TEIfd ™ 31 9, 2020 F ST THRISH HA
Y & T A9 %. 1,00,300 11 4 3R B & @I HH: F. 40,000 T
%. 50,000 & | ARION W AT 4 o T . 2,000 91 B & fa@ %. 2,500
AR |

oo N

ATH-CIH THASH @idl d11:U | [4]

A and B are partners in a firm sharing profit and loss in the ratio of
their capital. Their capitals on Ist April, 2019 were Rs. 80,000 and
Rs. 60,000 respectively. As per the provision of partnership deed,
interest on capital and drawings to be charged @12% and 10% per
annum respectively. 4 and B are entitled to get a salary of Rs. 2,000

and Rs. 3,000 every month. The profit for the year ended on 31st

M-40A



[5]
March, 2020 before above adjustments was Rs. 1,00,300. 4 and B’s

drawings for the year were Rs. 40,000 and Rs. 50,000 respectively.
Interest on drawings amounted for 4 Rs. 2,000 and for B Rs. 2,500.

Prepare Profit & Loss Appropriation Account.

374t / OR

X TS Y U %H § WIEER € 19 Z % HH B 91 WIEER S R HeHd ¢ |
31 fegwR, 2019 1 37 fager fF=fafed ®

feareat
(31 fggw=I’, 2019)
T T
HIC G Eee=siie)
(=) (%)
WER 10,000 | Thg 2,000
< foas 8,000 | TTER 7,000
TS— (%) hY 3,600
X 6,000 L iEery 400
Y 4,000 | 10,000 | G333 15,000
28,000 28,000

7 % 99 ¥ g4 frefafea gamEse fee sm §—

(i) TRATER 1 B . 250 fe@m € |

(i) HfeTer HON TG %. 300 T WEHH ISR T o S 2

(iii) fafT=m (sfafaa) €. 600 1 T § < € |

(iv) T WEER Z %. 4,000 St % ferw qen . 3,000 @i & fere
&

g R @Tdl 13T |

M-40A
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YI1-12

[6]

X and Y are partners in a firm. They admitted Z as a new partner.

Their Balance Sheet as on 31st December, 2019 was as under :

Balance Sheet
(31st December, 2019)

Liabilities A?li‘.‘)“t Assets A?lz'_‘)“t
Creditors 10,000 | Cash 2,000
Bills Payable 8,000 | Debtors 7,000
Capital— (Rs.) Stock 3,600

X 6,000 Furniture 400

Y 4,000 10,000 | Plant 15,000

28,000 28,000

The following adjustments are to be done before Z’s admission—

(/) Furniture is revalued at Rs. 250.

(if) Provision for doubtful debts Rs. 300 to be created on debtors.

(iii) Investment (unrecorded) to be shown in books at Rs. 600.

(iv) New partner Z will bring Rs. 4,000 for capital and Rs. 3,000

for goodwill.

Prepare Revaluation A/c.

HISIER 1 GHIY o 9EER] H ol G999 § 1<) fafEau (5 am) |

Write the differences between Dissolution of Partnership and

Dissolution of Partnership Firm (any four).

34T / OR

qH eI @l d el @Il § 3T < hifT (hlE =) |

Differentiate between Revaluation Account and Realization Account

(any four).

M-40A
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Instruction

YI1-13

[71]

: U hHIE 13 9 15 9% SHsTUT T B | TIF U W 6 37 fuifa €1

Yk U9 I idfieh fashed B 1

carries 6 marks. Each question has an internal choice.

Toh AT A T SN H %, 99,000 o JEHTH I Teh o % fhan |
g WA g3 foh ©. 100 AT 8% UGN o THIHT §RI v d oI 1 YT
feman ST | evrervarsh Ostt wfafteat sifse 98 JHd gU 5 ol shi—
() HHIA W;

(i)  10% HifHEs w;

(i) 10% Tt W Fifa form )

A company purchased from another company a building worth
Rs. 99,000. Purchase consideration was decided to be paid off by
issuing 8% debentures of Rs. 100 each. Pass Journal Entries when

the debentures are issued at—
(i) Par;
(ii) 10% Premium,;
(iii) 10% Discount.
34T / OR

S fafaes 9%, 10 9@t 20000 291 %, 2 9fa 79 Wifdew R frifaa fea)
MY 39 YhR < R—amaed W . 3 gfq 37w, feied W T, 5 yfd 49
(Wifgam gfeqd) aen A9 FreAT )| T T FUEEg 9 81 T |

U Y Tkl | UsTt yfaftear wifeg |
Jain Limited issued 20000 shares of Rs. 10 each at a premium of
Rs. 2 per share. Amount payable as—on Application Rs. 3 per share,

on Allotment Rs. 5 per share (including premium) and balance on

call. All the amount were duly received in time.

Pass Journal Entries in the books of the company.

Question Nos. 13 to 15 are long answer type questions. Each question

[6]

M-40A
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[8]
UST-14 A, B 3R C t& wH H WReR € S av-gi &1 fausm s 1,
I3 3R g & oqud H st ¥ 31 fed@ex, 2019 &1 37k faean

ﬁrﬂlﬂﬂ Tl
Tergat
(31 feEw=R, 2019)
RN . T
IR wufs
(%)) (%)
IGEHES 8,000 | THg 15,600
EERICICED 3,600 | TTER 13,000
g 9fefa 12,000 | &Y 17,000
Tofi— (%.) s 3,000
A 20,000 YR 3,500
10,000 o) 11,500
C 10,000 40,000
63,600 63,600

o N

C 1 39 e o ugw fhan qun 39 oy § f=fafaa aumErsH
fafe=a gu—
@Y & I | 10% Jfg foman S, W W 5% et oTufatad i
ST, SRR W 5% T B0 o IR S| FH H @l o g
%. 12,000 ¥ |

YT ST 3T FTEIeRi T Yt STl SR |

A, B and C are partners in a firm sharing profit and loss in the ratio of
1/, 1/3 and 1/g respectively. On 31st December, 2019 their Balance

Sheet was as under :

M-40A



[9]
Balance Sheet
(31 December, 2019)

Liabilities A&S“t Assets A&‘.‘)“t
Creditors 8,000 [ Cash 15,600
Bank Overdraft 3,600 | Debtors 13,000
General Reserve 12,000 [ Stock 17,000
Capital— (Rs.) Machinery 3,000

A 20,000 Furniture 3,500
B 10,000 Building 11,500

C _10,000| 40,000
63,600 63,600

C retired on that date and following adjustments were decided—

Increase the value of Stock by 10%, depreciate Machinery by 5%
and create a Reserve of 5% on debtors. Value of Goodwill of the firm

1s Rs. 12,000.

Prepare Revaluation Account and Partners’ Capital Account.

34T / OR

X, YR Z arger ¥ fome ana-favsm e 3:2: 181 31 fegmsy,
2010 9 X ®H F STIHE TS HAT ¢ | ST e =t qfer o1 faefor &,
2,00,000 foam 7= foh 39 fa a¥ %. 30,000 a1ftie gia Tgia & Tam
TRl ST | 92/ Y7Ia 3TFTel feA TR SR a2 Skl A Ueaieh o
1 STERT ol | 9| =R SH( oh1 ATHeRT a1 oI@l I8 AT ST3T foh 3Ted
TR R AT & 6% T a9 7 |

M-40A
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Y91-15

[10]
X, Y and Z are partners sharing profit in the ratio of 3 : 2 : 1. X retires
from the firm on 31st December, 2010. The determined amount of
his shares 1s Rs. 2,00,000. It is agreed that this should be paid by
annuity of Rs. 30,000. The first payment to be paid on the following
day and the subsequent payment on 1st January of each year. Prepare
the Annuity Suspense A/c for first four years charging interest @ 6%

per annum on outstanding balance.

TS AT THY Teh TH | 3:2 ST § Y- & WERR § 131 974,

2020 <kl 371 Torgal 1 Yk o -

ferear
(31 |14, 2020)
RUI . RUiI
e (%) watw (%.)
TFER 20,000 | A% 14,800
<7 faus 3,000 (%)
S stffaed 17,000 | STER 20,500 20,200
ESEp| 15,000 | () 9rE4m™ 300| 20,000
whYy 40,000
efi— (%.) RE| 70,000
Y 70,000 REE| 20,000
[GIER 60,000 | 1,30,000 | HIeX
1,85,000 1,85,000

(1) SR AR R i AN o Tl |WRIRR /= S %, 10,000 &AM

e wd . 40,000 Ysit & fow |

(if) Y& T eI %, 14,000 ST T, STefh Thl 1 Hod &. 6,000 FH I

Sipuill

(ifi) <TRRI W od RV Y& &, 1,000 Tk h a1 S|

(iv) IS A = ok feT %.1,800 1 graem foran S

ITHeIh Tl o WIEER] o1 Yoil @IdT ST |

[6]

M-40A



[11]
Manish and Lokesh were partners sharing profit and loss in the ratio
of 3:2. Their Balance Sheet as on 31st March, 2020 was as under :

Balance Sheet

(31st March, 2020)

Liabilities Azrl;(;lsnt Assets A?l;()sl.l)nt
Creditors 20,000 [ Cash 14,800
Bills Payable 3,000 (Rs.)

Bank Overdraft 17.000 | Debtors 20,500 20,200
Reserve 15,000 | () Provision 300 20,000
Capital— (Rs.) Stock 40,000
Manish 70,000 Plant 70,000
Lokesh 60,000 1,30,000 | Building 20,000
Motor
1,85,000 1,85,000
(i) They admitted Nair for % share in the partnership who will
bring Rs. 40,000 as capital and Rs. 10,000 as goodwill.
(if) Building to be appreciated by Rs. 14,000 and stock to be
depreciated by Rs. 6,000.
(iii) Provision for bad debts on Debtors to be increased up to Rs. 1,000.
(iv) A provision to be made for Rs. 1,800 for outstanding legal charges.

Prepare Revaluation Account and Partners’ Capital Account.

34T / OR

T IR T8 Tsh ®H § UEIER § S oly-gTH 1 faare 3:2 § & © |
3T ST SHEST . 50,000 3R %. 30,000 ¥ | Uil W 6% ! A1tk <X 9
TS ARG T 99 § 97 M bl 9 & ®9 H T, 2,500 Ufd o9 <
T 199 2020 F SRA STt W <A (R0 % TR, W YA H Aq
freRTeT o =g o1 i R %, 12,500 ST § | ST Fehed 1Y hi TR0 1
5% YT SHHITE & ¥ H T I 2T T |

-1 e @ 9 SreieRi 1 gl ST SRy |

M-40A
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[12]
Ram and Shyam are partners in a firm sharing profit and loss in the
ratio 3:2 with capitals Rs. 50,000 and Rs. 30,000 respectively. Interest
on capital is agreed to be paid @ 6% p.a. Shyam is allowed a salary
of Rs. 2,500 p.a. During the year 2020, profit prior to calculation of
interest on capital but after charging Shyam’s salary amounted to
Rs. 12,500. A provision of 5% on gross profit is to be made in respect

of manager’s commission.

Prepare Profit & Loss Appropriation Account and Partners’ Capital

Account.
st : U¥ A 16 T 17 HEAES I © | Todsh T3 T 8 ik Fifa & | ek
T W AR fashed
Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries

8 marks. Each question has an internal choice.

yya-16 Y fafes 3%, 100 aret 20000 3791 fifaa forw | Ufdt <1 ofi—etmaed W
%. 30, 3T W %. 40, Y& I W %. 10 T7 ATdH Ir=q1 W F. 20 <
off | gt Uiy JeameHg 9w 81 T |
SOl hi Gl | AT Uit gfaftear sifeg | [8]

Y Ltd. issued 20000 shares of Rs. 100 each, payable as—Rs. 30 on
Application, Rs. 40 on Allotment, Rs. 10 on first call and Rs. 20 on
final call. All the amounts were duly received in time.

Pass Journal Entries in the books of the company.

34T / OR

oo fafes 3 .100 9t 5000, 9% woras fifa ferm | wfdn < oft—
3TEET W%, 10, AT W E. 20, FIH A=A R T. 40 T1 AfqH a1 |
%, 30 Ufd SRUMS <kl <X © WY AH T2 | 9} UM FerEHT 9 71 |

ST hi Gkl | Uei gfaftear sifea |

Patel Ltd issued 5000, 9% debentures of Rs. 100 each. Amount
payable as—Rs. 10 on Application, Rs. 20 on Allotment, Rs. 40 on
first call and Rs. 30 on second and final call. All the amount were
duly received in time.

Pass Journal Entries in the books of the company.

M-40A



YI1-17

[13]

A 3R B T wH H WEER ¥ S 1:1 -7 1 favee w1 €1 3=
31 fqEeR, 2020 &1 WERN FAMG & w1 Feed o) ST foear

IRi= 1
forear
(31 fegwIR, 2020)

RURI . RURI

i (%.) et (%.)
TR 2,700 | & H s 3,000
T ST 3,000 | TSR 1,000
B 1 R0 3,000 [ €97 4,700
Ysii— (%) i 15,000
4 12,000 o 6,000
B 12,000 24,000 | wT=R 3,000
32,700 32,700

grafal | =1 oelt g5 —
qgq ¥. 6,300, B &, 3,300, Ll F. 13,800, IAGR T. 800, HIA
%. 4,800; TIGRI sl el YA H %, 2,600 T 71 | It =44 %, 500 T |

e @I Td HEER % YSit @l St | [8]
A and B are partners in a firm, sharing profit and loss in the ratio of
1:1. They decided to dissolve the firm on 31st December, 2020. Their
Balance Sheet was as under :
Balance Sheet
(31st December, 2020)
Liabilities AZ‘I‘&‘-‘)‘“ Assets Az‘lz%“t
Creditors 2,700 [ Cash at Bank 3,000
General Reserve 3,000 | Debtors 1,000
B’s Loan 3,000 | Plant 4,700
Capital— (Rs.) Stock 15,000
A 12,000 Building 6,000
B 12,000 24,000 | Furniture 3,000
32,700 32,700
M-40A P.T.O.



[14]
Assets were realized as under—
Buildings Rs. 6,300, Furniture Rs. 3,300, Stock Rs. 13,800, Debtors
Rs. 800, Plant Rs. 4,800; Creditors were paid Rs. 2,600 in full
settlement. Realization expenses paid Rs. 500.

Prepare Realization Account and Partners’ Capital Account.

34T / OR

X 3R Y us wH H WERR § St anv-g1f 1 favse 3:1 % U o
I T 1 31 fegmsr, 2020 &1 ST R’ GATE Hd @1 fveg fean)

IehT TerEal 171 ehL ot :
faeat
(31 fggmR, 2020)
T . T
I Hufa
(%)) (%)
TR 2,700 | i ¥ ks 3,000
= 9= 3,000 | TTER 1,000
Y 1 00 3,000 | 997 19,700
o 9,000
qoft— (%)
X 12,000
Y 12,000| 24,000
32,700 32,700
St 1 T

TGN %, 900, T %, 18,000 TA HeH ¥. 7,200; THGRI o Hd YA H
. 2,600 feam 7T | el =59 . 500 g

TG @I 9 WRIERI % STt WAl ST |

M-40A



[15]
X and Y are partners in a firm, sharing profit and loss in the ratio
of 3:1. They decided to dissolve the firm on 31st December, 2020.
Their Balance Sheet was as follows :
Balance Sheet
(31st December, 2020)

A A
Liabilities ?;Sl.l)nt Assets ?l:)sl.l)nt
Creditors 2,700 [ Cash at Bank 3,000
General Reserve 3,000 [ Debtors 1,000
Y's Loan 3,000 | Plant 19,700
Capital—- (Rs.) Buildings 9,000
X 12,000

Y 12,000 24,000

32,700 32,700

Assets were realized as under—

Debtors Rs. 900, Plant Rs. 18,000 and Building Rs. 7,200; Creditors
were paid Rs. 2,600 in full settlement. Realization expenses paid
Rs. 500.

Prepare Realization Account and Partners’ Capital Account.

Qug-( o) / Section-(B)
fa=ira faeron ot fagawoT

(Analysis of Financial Statements)

fador : WY ShAR 18 Td 19 SfqerStd We1 € | Tois T% W 1 37 fAuifa ®1

Instruction Question Nos. 18 and 19 are very short answer type questions. Each
question carries 1 mark.

T9-18  §El foehcd T [1]

Choose the correct option :

foritar faaon o faversor 1 g Se9a © -
(37) TNMUSEHAl Rl I IT HIT
(%) feamfedi sl G HE

~

(5) fara faerol st Sire el

~

(3) ofuenfishar T

M-40A

P.T.O.



[16]
The main objective of financial statements analysis is :
(a) to know about profitability

(b) to check the financial statements

(c¢) to satisty interest holders

(d) to fulfil the formalities

UeI-19 9% Hufa 99 Jhs ® qia ufkafda fan < 9o 91 Featml © 2 [1]
The asset which can be converted into cash immediately is called what?
frdor : I A% 20 W 22 T AYSTIT U T | TR Y W 4 3w i ¥
TS I9 T STiaRen foded T
Instruction : Question Nos. 20 to 22 are short answer type questions. Each question

carries 4 marks. Each question has an internal choice.

wy-20  fadia faaroi wi = faan fafem | [4]
Write four characteristics of Financial Statements.
3794ar / OR
foitar faarull o fageroo & = 3ev fafan |
Write four objectives of Financial Statements Analysis.
yya-21  TeAfafEd gael 9 ' g=er 9 9T Uhs | hi TOHT it [4]
faeror 2019 2020
(T ) I (E.)
=i 60,000 50,000
ERE 25,000 23,000
SRR 32,000 28,000
<7 faa 35,000 22,000
3ed I 3,500 4,500
IUIfSid 3™ 8,000 9,000
Y- @ 80,000 90,000

M-40A



[17]

From the following information, calculate ‘Cash Flow from

Operating Activities’ :
Particulars 2019 2020
Amount (Rs.) [ Amount (Rs.)
Stock 60,000 50,000
Debtors 25,000 23,000
Creditors 32,000 28,000
Bills Payable 35,000 22,000
Outstanding Expenses 3,500 4,500
Accrued Income 8,000 9,000
Profit & Loss A/c. 80,000 90,0000

HYgdr / OR
Trefafad foaxon ¥ J=mer § 9T Jhs ' i 0T ey

2020 2019
ferrzor i (s) | aRI(s.)
TR 30,000 24,000
37T A 6,000 2,000
ISR 26,000 30,000
qaed I 4,000 5,000

T 2020 % SR @Y g3 . 50,000

From the given information, calculate ‘Cash Flow from Operating

Activities’ :
Particulars 2020 2019
Amount (Rs.) | Amount (Rs.)
Debtors 30,000 24,000
Outstanding Expenses 6,000 2,000
Creditors 26,000 30,000
Prepaid Expenses 4,000 5,000

Profit during the year 2020 was Rs. 50,000

M-40A P.T.O.



[18]
Yya-22 T gErell W R ST i TOHT HITT [4]

=Te] I ¥, 1,40,000, Hrfie ISt %. 1,80,000, TSR &, 3,000, &ih
%. 1,10,000

Calculate Quick Ratio from the following details :
Current liabilities Rs. 1,40,000, Working Capital Rs. 1,80,000,
Creditors Rs. 3,000, Stock Rs. 1,10,000

374t / OR

frreferfied foreeon | =ime] ST9d i TTOFT hifST

Res Y& %, 1,00,000, Yaed =& €. 10,000, heg qAq1 kg oo
%. 30,000, 3TeUehTeA TAf=INT €. 20,000, HFRT . 7,000, SRR <FdTd

%. 1,00,000, SRUTYS %. 2,00,000, ek &. 40,000

Calculate Current Ratio from the following particulars :

Trade Receivables Rs. 1,00,000, Prepaid Expenses Rs. 10,000, Cash
and Cash Equivalents Rs. 30,000, Short-term Investment Rs. 20,000,
Machinery Rs. 7,000, Trade Payables Rs. 1,00,000, Debentures
Rs. 2,00,000, Stock Rs. 40,000

facor : WY A 23 ST Y B 1 39 Y W 6 3 HuifE T

Instruction : Question No. 23 is long answer type question. It carries 6 marks.

Y9A-23  Udhs Yamg faerur a9 sy gare faatn § 8: | fafaw | [1x6=6]
Write six differences between Cash Flow Statement and Fund

Flow Statement.

374t / OR

ke JaTe faaxur o ©: 3T = fafay |

Write six uses of Cash Flow Statement.

M-40A



[19]
Qug-(¥9) / Section-(C)
TS @R

(Computer Accounting)

T : Y ShATR 18 Td 19 STfAerEid ¥¥ ¥ | Yo I9 W 1 3i fwifa g1

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

question carries 1 mark.

A~

Uya-18  We! fosheq JHT : [1]

Choose the correct option :

HTEhd Taich ohi ToRIo &

(37) 3freran (&) Yoal
(®) STHIdl (%) Sugea @i
Characteristic of Computerized Accounting is :
(a) Speed (b) Accuracy
(¢) Suitability (d) All of the above
Y9T-19 ST i G fohe Tl B Bt © 2 [1]

How many levels are there in the structure of the Database?

fador : Y HHIE 20 W 22 O TSI U © | TE W9 W 4 3k fuifa ¥
T I W AR foshed B

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks. Each question has an internal choice.

Y9A-20  SIEd HAHe faed & ur o fafan | [4]
Write four advantages of Database Management System.

3g4qr/ OR

AR G YTt st = favand fafam |

Write four characteristics of Accounting Information System.

M-40A P.T.O.



[20]
UIT-21  HFILUFA @i YUl i e S fafew [4]

Write four limitations of Computerized Accounting System.

37gar/ OR

HIHX ! R TG fosioand gHems |

Explain four main characteristics of Computer.
q9-22  TSHE 71§ ? 3Heh A 39 i fafeu | [4]
What is Spreadsheet? Write its three uses.

34T/ OR

@I =1 YU & o 3e¥d fafau |

Write four objectives of Accounting Information System.

fcar : WY i 23 SESTT Y 139 W W 6 e HuifE T

Instruction : Question No. 23 is long answer type question. It carries 6 marks.
Y9A-23  SIOW Y& JUelt & g fafEu (FiE &) | [6]
Write demerits of Database Management System (any six).

37gar/ OR

I Y YUTeA! o B STTIANN ohl FHART |

Explain six uses of Database Management System.

oooooooooo
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